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Find the area between two curves using definite integration
(1-18) 414

dgdoeall JaBAI plisiwls (pioia (a1 Bygeamall dilaiall doliws Slan]

Ceinigd) (o 8 ygansmgd) Al 0 > 1—4 (0L e

Alasgl) & mat) e
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Compute volume by means of definite integration using areas of cross sections

) Ex.(1-4) 429
duiyall aboliall Caloelca pliseiol g Sguoeall JoBL poeoell Ll
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Find the volume of a solid of revolution using the method of disks (17,19,25)-(disks parts)

ool il plideiuly puuses poes Sl
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Find arc length in a given interval using definite integration

spoeall JaS phadeialy ilane 878 § Ao onia (o osd g S

(5-14] 446
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5. y=2x+1,0<x <2 S\
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Find surface area of a solid of revolution using definite integration

29-36
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Solve physical problems involving velocity

: g ? . Ex.(1-4)
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Solve problems on projectiles

o by (17-22) 456
©lbgiial &y e ddadad Plvs Jo

ic o 39Y) o bl 0 =17/3 aglp Lo pa> @l .17
R .g.u%*! sielly @eload! o) 33> 98 m/s aslas
5.4 JLJ)

s S
Vlgais) dg0=x0 Q}%’C‘;‘

2 B0° Sty Gl b muen] oS08 okl Balactl] St - o 18
60° a9y 2o adesl) 5,5 A0m/s ablaz) de



Ulgwu) >9ox0
Uasily 5,20 plasculs 60 aslazl dsgly go 5.5 JEo) 5 .19
JLay¥) e Lase (9Siw dugly pSly il o

I iy 2l plasialy 170 /5 513 acyas o 5.5 JEall 5,5 120
fagy L e Bl Seon pRlpadutll e s iilsidl
6 ft
Jay)
X v x=60 L:Ha_af')fttm_)'u.ol.;.ui SﬁJlJHEJS u;LnéJJa.jv-Zl
xr=0

daclall I Jas Loase 3 SI glosy)l o> 130 ft/s aslaz

| o Galsall aj sas ealti))) 60 Ft sy O I Kol
Dl > -(EL"‘:‘)W Lasa) Y- oalsledd) 'n.\jd.ﬁu} o X- aaladl

als Sl w50 B0 fi/scanlenh s, ws 21 e INIREFD
lasbs, aJLN



Compute integrals using direct computation and rules
ol LAy B ks diay de giie Jlas LS Sl

1. /e“xdx,a% 0

5. /Sin 6t dt
74 /(x2 + 4)? dx

Ul d>gox0
2, /cos(ax) dx,a #0

6. sec 2t tan 2t dt

x(x* + 4)* dx
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d
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Compute integrals using direct computation and rules

o]l B pulae diuay 45 gite Jlga VLIS Sl

(17,18,25,26,33,36,38,39)

489

17 / e> =% dx

y sin ¢
25./ L - dt
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18. / idx
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Compute various integrals using integration by substitution

ugaill Jatall Ayl alasenly ds gite Jlgs SIS slae

(27,30,31,32)
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Learn the notion of integration by parts
sl L Adoyhay S o Byall

(53,54)

497
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Use integration by parts to compute definite and indefinite integrals
st LaB) Ayl slaskiwly degiie B3gdome Al g Bagdoes SOLES dlany)

(56-61)
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58. /.:rqe"” dx
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Integrate functions of the form sin®n(x) - cos™m(x)

(1-6)

sin®n(x) .cosMm(x) damas Jlas CHLBS b

507

Vlguw, d>9.0x0

1. /cosxsinq‘xdx

o dolSall dged o> 1—44 o leadl B

-
Lad

v / cos’ x sin® x dx

nf4 z/3
3. / cos2xsin’ 2x dx 4. / cos® 3x sin’ 3x dx
0 b8

nf2
5. / cosZ x sin x dx
0
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0
6. / cos® x sin x dx
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Integrate functions of the form sec™n(x) - tan™m(x)

sechn(x). tan"m(x) dieas Jlas YLD slxa)

(9,11,12,15,16)

507

9. /tanxsec3xdx

11. /xtan3 (x2+1) sec (F® +1) dx

12; /tan (2x +1) sec® (2x+ 1) dx
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15. / tan® xsec* x dx 16. /
0 o

Ulgui) >90x0

tan® xsec? x dx
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Integrate trigonometric functions using the substitution x = a-tan(y)

X = atanly) — el plidaaly dlie Jlss COLES sl

(33-36,38-40)

507
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0
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6 Compute the area of a region using definite integration with y as a variable x Example 1.6 413

X (56 Logs y Anaglans Jgdome JalSiS dilate dlus lon (19,20,22,24) 414

Y Jgas 53gomne didaie iluws 1.6 JLoJ!
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= 'lzy 3‘”_1_(2 3) (2+3)"'3
Ulgw) >90x0
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Find the volume of a solid of revolution by using the method of washers (17,19,25)-(washers parts) 430

olaloell 42 b alisionl) puates pans Sl (27,28)-(washers parts) 431
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i Solve mathematical problems involving applications on arc length or surface area (23.25)

el Alse ol pusdll Jgb o SHadaiS Ay Jlue J
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Use integration by parts to compute definite and indefinite integrals

sl JoBl diyl plasiel dsgie 33gdoue pEg BIgdone ILES Sl

(9,10,11,14)
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9. / e’ sin 4x dx

11. /cosxcestdx
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10. /eh Cos x dx
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Integrate trigonometric functions using the substitution x = a-sin(y) ( ]
21-24

X = asin(y) = pasadll plisiul ddlie Jlgs O slw|

507
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